[image: image15.jpg]/a mean, OOPS?!

Y. ©Ornginal Aist
R’epmdudmn o bl !mm
onStock




High School for Public Service

Ms. [image: image16.png]


 Reid’s Weekly Living Environment Homework Packet
Due before class starts on 

Wednesday, November 22nd 2017. 

Name: _____________________________________________________

Period: ________
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	Match the number of the definition to the letter in the diagram.




	
	
	
	




1.

[image: image1.png]By which process are CO, and H,O converted to
carbohydrates?

(A) transpiration (C) fermentation
(B) respiration (D) photosynthesis




2.
[image: image2.png]An activity carried on by every living plant and animal is
(A) photosynthesis (C) reproduction
(B) respiration (D) transpiration




3. 

[image: image3.png]Photosynthesis transforms molecules of water and carbon
dioxide into molecules of

(A) carbohydrate and oxygen

(B) carbohydrate and nitrogen

(C) polypeptide and oxygen

(D) polypeptide and nitrogen




    4.
[image: image4.png]‘Which organelles must be present within a cell of a
geranium leaf for respiration and photosynthesis to occur?
(A) cell wall and lysosome

(B) mitochondrion and chloroplast

(C) centrosome and nucleus

(D) endoplasmic reticulum and ribosome




5.  

[image: image5.png]Lactic acid may be formed as a result of the process of
(A) aerobic respiration (C) photosynthesis
(B) anaerobic respiration (D) photolysis




6. 
[image: image6.png]‘Which life function is primarily involved in the conversion
of the energy stored in organic molecules to a form directly
usable by a cell?

(A) absorption (C) digestion
(B) circulation (D) respiration




7. 
[image: image7.png]Letter X most likely represents
(A) ATP (C) lactic acid
(B) maltose (D) PGAL




8.


[image: image8.png]‘Which process is best illustrated by the diagram?
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(A) respiration (C) transpiration
(B) photosynthesis (D) hydrolysis




9. 

[image: image9.png]‘Which process is represented by the arrow in the diagram

below?
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10.
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a.[image: image11.png]‘Which molecule belongs in area X?
(A) lactic acid (B) carbon dioxide (C) water (D) oxygen




b.[image: image12.png]In which cell organelle do the reactions that belong in areas B and C occur?
(A) mitochondrion (B) chloroplast (C) endoplasmic reticulum (D) Golgi complex




c.[image: image13.png]‘Which molecule belongs in area ¥?
(A) water (B) oxygen (C) glucose (D) hydrogen





d.

[image: image14.png]‘Which molecule belongs in area 4?
(A) deoxyribonucleic acid

(B) Energy - Sunlight/ATP

(C) PGAL

D) CH,,04



 
HW #7





Cool Science Fact of the Week!


1. Trees get about 90% of their nutrition from the atmosphere (carbon dioxide, etc), and only about 10% from the soil.





2. The averaged size tree can provide enough wood to make 170,000 pencils. 





3. One (a single) tree produces up to 260 pounds of oxygen a year. That is more than enough to supply oxygen to a family of four people. Make that a few thousand trees and you’ve got an oxygen supply for a whole town!





4. A tree can absorb as much carbon in a year as a car produces, driven over 8 500 miles. Line the highways with trees! 


5. Trees planted in and around property can raise that piece of land’s value by up to 20%. That’s a lot!


6. An acre of trees can produce up to 4000 pounds (~1 814.4 kilograms) of wood every year. That’s over a ton of wood a year!


7. Trees help cool down the atmosphere. They can bring down your air conditioning costs by up to 20 percent. 


8. A healthy birch tree can produce up to 1 million seeds a year


.
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Important Reminders:


Quick Quiz Next Wednesday





Topics for the week:


Photosynthesis, Respiration and Plant Parts





Photosynthesis and Respiration





Use the words in the box to fill in the blanks.�
�
Animal


ATP


Autotrophs


Breath 


Broken-down


Cannot


 Carbohydrate


Carbon dioxide


Cycle�
Cycle 


Eating


Enters


Function


 Glucose 


Green


Guard 


Leaf 


Leaves�
Make


Maze 


Mitochondria


Molecules


Organelle


Organism 


Photosynthesis


Recombined


Regulates �
Respiration


 Roots


Starch


Stomates


Store


Sunlight


Water


�
�



    Plants are very special _________. Without plants, all the ________ on the planet would die. Plants perform a process called ___________. This process converts _________ into _________. Animal use this __________ for energy. Unlike animals, plants can _______ their own food. That is why plants are also called ____________, which means to make it own food.


    Photosynthesis occurs in the ______ of the plant. In every cell of a _______ plant there are small __________ that are oval in shape and have small ________ inside that look like coins. They are only found in plants. It is here where ___________ and _________ are taken apart by sunlight.  These atoms are __________ to form new _________ of oxygen and glucose. If the plant makes too much glucose, the plant will combine these sugar molecules and form ________ molecules, which they can ________ and use later.


   The water used in photosynthesis comes from the ________ of the plant. The carbon dioxide enters the plant though small holes under the leaf called _________. These holes open and close by two special cells called _______ cells. These special cells __________ how much Carbon dioxide _________ the plant and how much oxygen ________ the plant.


    Animals _________ do photosynthesis, instead they do the process known as __________. In respiration, oxygen and glucose are ____________ and recombined to form carbon dioxide, water and _________. This process in done in an organelle called the _____________. This organelle is oval in shape and it has an inner membrane that is folded like a _________. Carbon dioxide is released from the animals when they __________. ATP is used by the animal to perform the 8 life ___________.


    Animal breathe in the oxygen made by the plants. The animal eat plants, thereby _________ the glucose made by the plant. Plants use the carbon dioxide made by the animal. Because animals use the oxygen that the plants make and the plants use the carbon dioxide that the animals make, photosynthesis and respiration is said to by a _________.





..�
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Word Bank:


cell








F





H





___This is the factory of the plant.





___These regulate how much air enters the plant.





___This part of the plant is the primary entry point for water to enter.





___This is the part of the plant that acts as a transport system.





___Energy can be traced back to this.





___CO 2





___O2





___H2O





�





9) In which organelle does photosynthesis occur? _______________________________


10) In which organelle does respiration occur? _________________________________


11) This type of respiration needs no oxygen. __________________________________


12) This type of respiration gives you the most ATP per glucose molecule. _______________


13) This type of respiration occurs during heavy exercise. ____________________________


14) This type of respiration is use in most organisms. _________________________________


15) This type of respiration produces lactic acid. _____________________________________


16) This type of respiration is use in many infectious bacteria. __________________________
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By which process are CO2 and H2O converted to carbohydrates?





(A) Transpiration                        (C) Fermentation


(B) Respiration                            (D) Photosynthesis





An activity carried on by every living plant and animal is





(A) Photosynthesis                       (C) Fermentation


(B) Respiration                            (D) Transpiration





Photosynthesis transforms molecules of water and carbon dioxide into molecules of





(A) carbohydrate and oxygen                       


(B) carbohydrate and nitrogen 


(C) polypeptide and oxygen            


(D) polypeptide and nitrogen





Which organelles must be present within a cell of a plant leaf for respiration and photosynthesis to occur?





(A) cell wall and lysosome                       


(B) mitochondria and chloroplast 


(C) centrosome and nucleus            


(D) endoplasmic reticulum and ribosome





Lactic acid may be formed as a result of the process of





(A) aerobic respiration                       (C) photosynthesis


(B) anaerobic respiration                   (D) photolysis





Which life function is primarily involved in the conversion of the energy stored in organic molecules to a form directly usable by the cell?





(A) absorption                            (C) digestion


(B) circulation                            (D) respiration





Letter X most likely represents





(A) ATP                                        (C) Fermentation


(B) maltose                                   (D) PGAL





Which process is best illustrated by the diagram?








(A) Photosynthesis                       (C) Hydrolysis


(B) Respiration                            (D) Transpiration





Which process is represented by the arrow in the diagram below?





(A) Photosynthesis                       (C) Fermentation


(B) Respiration                            (D) Transpiration





(A) fermentation                 (C) respiration   


(B) photosynthesis               (D) hydrolysis





a. Which molecule belongs in area X?


(A) lactic acid             (B) carbon dioxide  (C) water        (D) oxygen





b. In which cell organelle do the reactions that belong in areas B and C occur?


(A) mitochondria       (B) chloroplast       (C) Endoplasmic reticulum   (D) Golgi complex


        ygen





c. Which molecule belongs in area Y?


(A) water                     (B) oxygen             (C) glucose        (D) hydrogen





d. Which molecule belongs in area A? 





(A) DNA


(B) Energy-Sunlight/ATP 


(C) PGAL            


(D) C6H12O6








